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5.1  
����������
����� KNbO3 ��  BaTiO3 %&'��()��*�	��+)��,-%�.-)� 10-30%  

�����	
��
����������������������������	��� KNbO3  #$� BaTiO3 
  -      �*+�,��- 50 - 150 oC  
  -      #����� 1.0 - 3.0 ton  
  -       PVA  2.5 - 3 g : ;����<�=�>?��10 g 
  -       ��<������@-���*+�,��-A	����;� 5 oC /min 
D�
�EF=��@�*	<�=�>�?A	G?=� 10-30% #$�AGE�*+�,��-A	�����;	�� 1,000 oC     
D�
�EF=���	�#	?	���@��JK�>�?A	G?=� 68.61-82.90% ���F?�����NOP
 (4.62 g.cm-3) 
D�������$�� D�
�EF=��@�*	<�=�>�?A	G?=��
�<E����� F�� 10-30%  

> 30 %  ����� #<�����?�> 

<    10 %  
�?��������
�D�AGEA	�����$= 
 

5.2  ���+�3�	���43����(-�(����%����)35+���6 

 

�*+�,��-�+����	��� (150 °C) 
 #������+����	��� (ton) 1.0 1.5 2.0 2.5 3.0 
F=��@�*	 (%) 26.61 26.43 25.85 23.37 23.20 
F?�F��
� 
��- �$��<�-�  (�
� 1kHz + 
�*+�,��-�E��) 

708 1328 1781 1453 2206 

@$�	��KF���$-�#Y�#<��K (kp) 0.36 0.33 0.32 0.33 0.21 
F���$-�#Y��<��K#	=F=���	� (kt) 0.21 0.18 0.18 0.18 0.13 
F?�F��
�>���>*?	 *(GPa) 0.26 0.20 0.21 0.19 0.15 
F=�����=��
>�A	���<�=�>?�� *(m/s)  1087 1263 1217 1292 1428 
�-�@-#�	^K��F��<-� (1x106  kg.m-2s-1) 3.90 4.27 4.35 4.59 5.27 
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�*+�,��-�+����	��� (150 °C) 
dh (pCN

-1) 0.18 0.08 0.05 0.05 0.03 
gh (mVm-1Pa-1) 2.60 6.02 2.75 3.44 2.82 
Figure of merit (FoM) (x10-15Pa-1) 24.04 8.51 4.25 3.62 1.79 
F=��
=������+K (M) 184.21 84.06 39.07 54.87 32.74 
��$FK����$�� B *(GPa) 4.25 5.39 5.26 5.93 7.53 

 

�*+�,��-�+����	��� (150 °C) 
  #������+����	��� (ton) 1.0 2.0 2.5 
F=��@�*	 (%) 28.62 26.34 25.94 
F? �F��
� 
��- �$��<�-�  (�
�  1 kHz + 
�*+�,��-�E��) 

3036 3888 32.400 

@$�	��KF���$-�#Y�#<��K (kp) 0.37 0.33 0.28 
F���$-�#Y��<��K#	=F=���	� (kt) 0.24 0.19 1.14 
F?�F��
�>���>*?	 *(GPa) 0.26 0.21 0.15 
F=�����=��
>�A	���<�=�>?�� *(m/s) 1125 1235 1460 
�-�@-#�	^K�����F��<-� (1x106  kg.m-2s-1) 3.75 4.23 4.91 
>���Kh���$�� (GPa) 4.21 5.21 7.16 
dh (pCN

-1) 0.03 0.03 0.06 
gh (mVm-1Pa-1) 9.55 7.71 1.85 
Figure of merit (FoM) (x10-15Pa-1) 2.49 3.19 6.05 
F=��
=������+K (M) 32.95 31.51 62.54 
��$FK����$�� B *(GPa) 4.21 5.21 7.16 

* 
�ED�����F��	=+����NOP
 
 
5.3  ���
� �	��7

8��9:;�:<� 

�	����D��<�=�����ii�+�
��
�?=	���D�<E����j	����
��
F=��@�*	<�=����
F=��
@�*	A	G?=�  10-30 % #<?��������j	<�=���F$��	�
��

�E#$E=�$����j	<�=�
��?���ii�+
�E
�?�
 ����
�D�
	���������j	<�=�?���ii�+�
��
D�<E���
F=��@�*	<�=F?�	�E��<��� (< 10-30%) #<?��D#�E
�
�Eh�>
���������A�E�
F=���	�	E�>l (0.1-0.3 mm) #<?A	����
�D�������A�E�
F=���	�A	�����	
���j	
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������>������@������@=��^���-��KD������#$�#<�
�E�?�>D�������$��A	��	=-D�>	
�����
�F=�
	������j	<�=�?���ii�+F=���j	 BaTiO3 �
��
F=��@�*	 10-15 % �
F=���	� 0.3 m 0.5  mm #$�
����
�F=�AGE��j	<�=���F$��	F=���j	 KNbO3 �
��
F=��@�*	 20-30 % �
F=���	� 0.1m0.3  mm 

 
5.4  �'�
�����  

G?=����=?�����������=-D�>=-�>�	-@	JK �ni��<?��l�
���-����	
�E������#�E
�
������*��@����
�D���j	���h>G	K<?�;�E�
��	ADo��O�=-J
���=-D�>A	��	=-�>�	-@	JK	
�A	��������==��

ph��hY	F=����#;?	��==��A�E�
F=���	�	E�>�=?� 0.1 mm. �@���D����A�E<���	��<?�������
F$��	��F��<-�
�E�
 #<?����
�D����A�E��==���
F=���	�	E�>�=?� 0.1 mm. ��j	������>�� ���	��	F=�
�<�
>����h�>=-J
 sol-gel ���� Thin film #$�F=�������*�=�D��>�>��ii�+�
��
����-�J-,�@���
�=?�	
� �@����@-��F=�������rA	��� ���-�?� F$��	A	�����$��F=�D��$
��$
�>�A	G?=��=$��
��

��ii�+������=	D��,�>	�� �@����F�������ii�+ �
F=��
=<?���ii�+��� ��D���A�EF?��
�=��

�E��-�F=��F$���F$���	 #$��
�����<*�	�����D��D����>�F��-$�
�<?����=�D��
�AGE=��A	�����$��
��-����$���	�����ii�+���A�E��-�F=��;-�@$��
�E�G?	��	 
 
 
 


